V 1 RELAGAO DO AGO
ESC 1:50 SEGAQ A-A V1 v2 V3
ESC 1:25 V3 V4 V5 V6
. 2 N39 12.5 C=873 (1c) . E£SC 1450 SECAO A-A vr ve
191 : 846 : 4 ESC 1:25 AGON DIAM QUANT C.UNIT C.TOTAL
o . 2 N34 ¢10.0 C=619 (1c)- : (mm) (cm) (cm)
® 12 : 600 : 112 CA60 1 5.0 136 87 11832
: : 2 50 | 237 97 22989
i © CAS50 3 6.3 10 77 770
! A t 15 » 4 6.3 17 98 1666
: ' ‘ : 5 8.0 1 288 288
i5] 258 130 | 259 130 | 245 15} - 6 8.0 2| 862 1724
T 15 x 35 T 15x 35 . 15x 35 T 1 P19 P20 A ! 5] 7 8.0 1 183 183
: L 258 L : L 274 i 260 L : . 5 . . . 8 8.0 2 332 664
:) L) ! L 2 17, 174.3 |30| 743 15745 130 | 174 17 9 8.0 2| 1153 2306
15 N1 c/18 : 16 N1c/18 15 N1 c/18 : T 1535 T isxs 1 15x35 L 15%35 o 112 g.g g ‘21?2 1;22
3% 3 9 | 174.3 c) 743 i) 745 |t 174 ]t 2 12 8.0 2| 616 1232
) 46 N1 25.0 C=87 10 N1 ¢c/18 - 5N1c/18 . 5N1c/18 - 10 N1 c/18 : 13 8.0 1 169 169
: 1N3 6.3 C=77 : : : : : 14 8.0 1 398 398
: 280 : 101 : 600 : J10 9 15 8.0 4 402 1608
101 : 2 N12 8.0 C=616 (1c) | : 30 N1 ¢5.0 C=87 16 8.0 4| 22 904 )
: 1'N5 8.0 C=288 (1c) : : 17 8.0 1] 143 143 RELAGAO DO AGO
| : 846 : " 18 8.0 1 147 147 V9 V1 O V 1
101 : : J10 19 8.0 2 261 522 ESC 1:50 ESC 1:50 ESC 1:50 V9 V10 V11
2 N6 8.0 C=862 (1c) 20 8.0 2 209 418 V12 V13 V14
21 8.0 2 243 486 3 N53 212.5 C=914 (1c) . 2 N37 210.0 C=870 (1c) . . . 3 N59 12.5 C=909 (1c) V15 v16e
V 2 22 8.0 1| 157 157 : 837 : o8 : 822 : l2s ] 827 :
23 8.0 2| 255 510 46 : 47 ] : : - 41- : 47 Aco N DIAM QUANT C.UNIT C.TOTAL
ESC 1:50 24 10.0 2 220 440 ] 1 N52 ¢12.5 C=637 (1c) - 1 N36 ¢10.0 C=831 (1c) 1 N58 ¢12.5 C=627 (1c) - (mm) (cm) (cm)
2| 18 1 polt 46 594 1 28] : 805 : : ar: 589 : cae0| 1] 50| 222 107 23754
'[ : 2N31210.0 C=1199 (1c) : : : 2 N32:210.0 C=1200 (1c) : (1c) 2 N33 210.0 C=291 57| 100 2 235 470 ] 1 N51 812.5 C=355 (2¢) : : 2 N35 10.0 C=579 (1g1c+122c) : ] 2 N57 212.5 C=350 (2c) 2 5.0 231 27 22:110673
12 : 189 : : : : : 259 : : ; - 3 5.0 48 7 417
: : ! : : N L | 34 28| 100 21 2% 510 ] 180 | 105 | 175 \ cas0| 4| 63 4 88 352
: : : : : : : : 29 | 10.0 2| 624 1248 1 g : ! 5 6.3 13 86 1118
: : : : : : (1c) 1 N30 210.0 C=937 : f;ﬂ }8'8 ; 1?3; 22% 3 N50 ¢12.5 C=290 (2c) : 2 N34 ¢10.0 C=554 (2c) : : 3 N56 g12.5 C=270 (2@2c+1@3c) 6 6.3 53 102 5432
505 ] . : : . - : - 7 6.3 8
: 34 32| 100 2| 1200 2400 | 135 ~ ~ : | 8 : 5 A R
: 2N29 910.0 C=624 (1o1c+102¢) : 33| 100 2| 291 582 : SECAC A-A : : : SECAO A-A SECAO A-A & 83 - 2
: : 34| 100 2| 619 1238 . ESC 1:25 : L : : “Esc125 S SEYL AR :
: 1N26 810.0 C=697 (1c) i 150 ] 3 | 100 3| 287 061 3 N49 912.5 C=230 (3c) 3N33 a1(:).0 C=210 (162c+203c) : : 2 NS5 012.5 /20 C=250 (3c) ESC 1:25 11 ? g.g 12‘11 1 %fé 1?228
127 : 537 : 36 | 10.0 3| 389 1167 | 115 [ 105 12 8.0 4| 408 1632
: : ~ 2 N28 210.0 C=255 (2c) 37 | 100 1] 235 235 g 135 13 80 a1 a1 1644
1 N25 ¢10.0 C=557 (1c) . 38 10.0 3 351 1053 A 1 A 14 30 3 232 696
125 340 r 340 r A .
125 5 39| 125 2| 8 1746 o 9 340 r 15| 80 4| 229 916
: 2 N27 910.0 /20 C=235 (162c+103c) SEGROAA | e A oo N ® 16 8.0 1| 693 693
: 10. = #2c+1a3c ; 41| 125 2 441 882 :
2 N24 910,0 C=220 (2c) : ESC 1:25 42| 125 2| 230 460 1; gﬁg 421 igg 1222
bo1s | 125 a| ios 1 i 575 P32 P33 FA tP34 120 : i i : K2 P45 P46 LA Pa7 o B0 4 Mo 1049
3 45 | 125 1| 603 603 p ) : 15| 296.5 |35 | 296.5 130 | 138 17} : s : :
rA 8 379 | 40 | 379 17 ] 135 |30 ] 17] 21 8.0 3| 257 771
340 o 46 | 125 3 861 2532 ? | 20 40 = 20 40 H} ! 20x35 : 20x35 : 20x35 ! 18] 3815 135 | 3815 17} 5 8o e A 1936
3 47 | 125 1] 184 : : : D 194 L 120 1 130 L 199 ] 153 B ! 20 x 40 : 20 x 40 : 23 8.0 1 442 442
48 | 125 T 188 188 | 261 | 138 | 144 | 255 | s . 1 4 1 + 29 : 2415 140 | : ] 120 | 2615 | 24 8.0 1| 446 446
49 12.5 1 403 403 ! 29 N1 ¢/9 ! 20 N10 ¢/7 1 24 N10 ¢/6 K 29 N1 ¢/9 K 34 11 N2 c/18 24N2c/5 26 N2 c/5 29 N2 c/7 9N2c/18 L - 4L } - y " 25 8:0 2 241 482
20 50 | 125 2| 410 820 : : : : : : 25 N1 ¢/10 20 N10 c/7 20N10c/6 30N1c/9 o 80 21 2 s
: ' ' : : : ' : : : : : : 38 44 14 27 8.0 1] 289 289
130] 243 130] 274 18] 186 |30 278 18] 2785 18] 2785 130] 366.5 135 ] 3795 17 RESUMO DO ACO 14 : : : _ 99 N2 95.0 C=97 ) 58 80 o 68 932
. 20 x 35 : 20 x 35 : 20 x 35 : : 20 x 35 : 20 x 35 : 20 x 35 : 20 x 35 : 20 x 35 . : 58 N1 ¢5.0 C=107 : : : 1N5 06.3 C=86 : ‘ 55 N1 25.0 C=107 29 8.0 2| 235 470
i 153 | 135 i 126 | 1705 i 208.5 i : 293 l:] 2785 L:] 2935 i 271 | 128 i 132 | 265 | : ACO | DIAM | C.TOTAL |PESO +10% 4 39 1 N48 9135 C=234 (2¢) 8 ., 44 N10 28.0 C=108 : : : : : isoe 40 N10 8.0 C=108 ?ég ; g-g § 53‘0191 }g; g
. 9N2c/18 " 9N2c¢15 - 14N2cl9 18 N2 ¢/10 . 12 N2 c/18 . : 17 N2 c/18 o 16 N2 c/18 o 17 N2 c/18 . 16 N2 c/18 " 16N2ci8 - 22N2cl6 15 N2 ¢/18 : 29 (mm) (m) (kg) Y — : 116 —\t : : : : 14:% 1N54 912.5 C=229 (2¢) %1‘4 32| 100 1| 414 1656
: : : : : : : : CA50 63 244 66 : _ 1o me | L : : : : : i 13 : :
14 8.0 138.6 60.2 ! N4; 063 C=88 : 4NS 263 C 8 I 27.53N14 8.0 c/15 C=232 (121c+202c) : — : 1 N4.¢6.3 C=88 J;—L 4 N5 6.3 C=86 33 10.0 3 210 630
: : 1.0 1479 100.3 : ¥ 40 4'N15 28.0 c/10 C=229 (1o1c+3p2c) - : . : 34| 100 2| 554 1108
65 1 N7 28.0 C=183 (1c) : 2 N40 ¢12.5 C=349 (1c) 2 N41 ¢12.5 C=441 (1c) : 181 N2 ¢5.0 C=97 192 s %90 12° 401 101 lms# : 20 403 : : 35 | 10.0 2| 579 1158
L6 | : : - : : : : - E : : : 36 | 100 1 831 831
: : : : : | 65 3N10 28.0 ¢/20 C=256 (1o1c+2020) : CA60 5.0 348.2 59 : 3 N31210.0 C=411 (2c) : 1N16 98.0 C=693 (1c) : : : 3N38 210.0 C=413 (2c) 37 | 100 2| 870 1740
2N808.0C=332(1c) ! : : : :2N9 98.0 C=1153 (1c) : 404 10 PESO TOTAL 121 404 TS 101 : 822 : o 121 407 38| 100 3| 413 1239
: : 5 3N11 28.0 C=412 (1c) : (kg) : 4 N32 210.0 C=414 (1c : : - - : : - 39 | 100 4| a7 1668
# CAS0  266.9 : 397 Jt0 2N17080C=838 (1) 4N39210.0 C=417 (10) : 29 : 40 | 100 3| 839 2517
. : - : : J10 41| 100 4| 846 3384
CA60 59 110 4 N1108.0 C=405 (30) : s 4N18 08.0 C=407 (30) 2 42| 100 3| 413 1239
V4 V5 V6 V7 SECAO A-A V8 : 400 J10 QL 402 Jio 43 | 100 2| 240 480
ESC 1:50 ESC 1:50 ESC 1:50 ESC 1:50 S A ESC 1:50 Volume de concreto (C-25) = 3.58 m* i10 4 N12 8.0 C=408 (2c) : : — ! 44 | 10.0 2 260 520
ESC 1:25 - Area de forma = 50.28 m? vu‘ 403 1210 JL_S 4 N19 8.0 C=410 (2c) : 45 10.0 1 613 613
- . . . . : . . : - : : - SEGAO A-A : : ! 406 10 46 | 100 1| e 616
3 N46 212.5 C=861 (1c) 2 N50 12,5 C=410 (1c) : 2N19 8.0 C=261 (1c) - 2 N21 28.0 C=243 (1c) 2 N23 8.0 C=255 (1c) 2 N13 28.0 C=411 (10 : :
_ i10 o (1o) : TN20 28.0 C=414 (10) : 47 | 100 3| 884 2652
35:| 787 : : 332 10 zggl 210 : 26 3 24:[ 193 - 24;| 210 o5 ESC 1:25 J{ZP . 48| 125 ] 234 oo
! © (1c) 1 N45 912.5 C=603 45 44 1 N49 912.5 C=403 (2c) : 1 N18 8.0 C=147 (1c) : SECAC A-A 340 rA "1 N22 8.0 C=157 (1c) : gg gg g ggg };28
561 s 4 325 Iim A 29 120 : : ESC1:25 8 uf 1% V12 V13 V14 51| 125 3| 355 1065
(2c) 1 N44 ¢12.5 C=578 : *|1 N48 12.5 C=188 (2¢) : SECAO A-A 1 N17 98.0 C=143 (20) : ab-TA 340 _ ) 52 | 125 1 637 637
: =% : ; 7 : ESC 125 : 16 : © ESC 1:50 ESC 1:50 ESC 1:50 53 | 128 3| o14 9749
; (45 44 29 La 15 @ 54 | 125 1 229 229
1N43 212.5 C=275 (2c) - : 1 N47 212.5 C=184 (3c) ﬁ5t 1695 1!5:t 3 N63 812.5 C=914 (1c) . 4 N65 ¢12.5 C=905 (1c) : : 3 N47 210.0 C=884 (1c) : 55 | 125 2 250 500
I 140 . £ : ot P30 15 ] 828 : ] 827 : 30 :I 822 ]: 56 | 125 3| 210 810
- . . : X : : : : j : 37
: : SEGAOA-A. : 15x35 : ~ : = 4t 2 N51 913.5 C=355 (18 1c+1020) 45 40;| 1 N57 212.5 C=350 (2¢) 44 : (1c) 1 N46 210.0 C=616 : o | 125 3| 30 1050
_ . ESC 1:25 0 | 169.5 | 5 186.3 5 . 58 12.5 1 627 627
2 N42 2125 C=230 (20) : ' ® ‘ ! 29 15, : 14 ‘ ‘ 581 : 50 | 125 3| 909 2727
- : L g : t 175 | | 175 | (37 :
: : ' 10 N1 c/18 : 15x 35 L - : 60 | 125 4| 852 3408
boms | s 150 26218 : : D 186.3 E ? ‘ 1 g (2c) 1 N45 210.0 C=613 ; 01 125 4 82 3408
] 15 19 1362119 - 36 36 9 L ' + 29 3 N62 212.5 C=275 (2c) : 3 N50 212.5 C=290 (2c) : : 578 : :
A ! 3 9 9 . 11 N1 ¢c/18 37 62 12.5 4 275 1100
r . N . 15x35 15x35 . — —t . 0 : - : .
340 : : : : : : : 10 N1 ¢5.0 C=87 : 135 : 135 : _ 2 N44 310.0 C=260 (2c) : 63 | 125 3| o4 2742
9 {30 293 15) : 142.5 | 2B7 % 1 N3'06.3 C=77 1N3 06.3 C=77 . 5 oo’ SECAO AA : oo | : SECAO A-A : : 64 | 123 11 230 230
L 15x 35 i 8N1c18  2N1c8: : 103 : 9= ~ : SEGAO A-A : L : “Esc125 P10 | i 65 | 123 4| 905 3620
Lo 108 I 185 B : : : 101 J10 2 N306.3 C=77 11 N1 5.0 C=87 2 N61 ¢12.5 ¢f20 C=255 (3c) ESC 1:25 : 3 N49 12.5 C=230 (3c) : SECAO A-A 66 125 1 524 624
P24 La P25 V19 P26 20 1 e 29 9: 36 36 9 9 . 2 N20 28.0 C=209 (1c) . e . - : 1 115 2 N43 210.0 ¢/20 C=240 (182c+123c) T Esc125 67 125 2 953 1906
: ' : 120 12N1c/9 17 N1 ¢/ : — . 10 N1 05.0 C=87 04 210 Co 135 i—L‘ : : 68 | 125 3| 470 1410
15| 356.5 135 | 356.5 130] %6 5 1 N3'g6.3 C=77 1 N8 6.3 C=77 : 2N16 26,0 C=226 (10) - FA 130 69 | 125 1| 603 603
= A 4«. 9 : : : . - rA 340 70 | 125 2| 713 1426
4 20x 35 : 20x 35 : p—Y: _ . . . 340 o
' : 29N185.0C=87 107 210 : 10 X .
L] 255 | 118 jo00 | 205 e ] % 3N3 06.3 G=77 2 N16 28.0 0=228 (10) 340 i RESUMO DO AGO
15 N2 c/18 17N4c/i7 © 20N2c/5 12 N2 c/18 9N2c/11 - : 55 : ]
: : 12 J12 L
1 N37 210.0 C=235 (2c) : 14 : 3N38 210.0 C=351 (1c) : I pss P54 L P55 o i A L PS7 P58 J20] ACO ?r:]fr\nw)l C.T(SJAL PES((JK 5)10%
: 5.0 C=97 : : : ; 20
R o BB N2e50 00T 8| 379 EX A379 18] 7 3815 15 3815 e} : ; : CAB0 63 753 203
1 : . 1 20 x 40 A 20 x 40 1 20 x 40 20 x 40 . Usl 381.5 135 | 3815 15( 8.0 347.3 150.7
: : : L 76 L 12 i 130 L 260 B D 2415 | 140 | 1] 119 | 280.5 | 1 20 x 35 A+t 20 %35 + 10.0 2328 157.9
: 1 N13 8.0 C=169 (2c) : : D g T g 1 34 : : 125 3183 3373
: 3N35 210.0 015 C=287 (1o 107202 15 390 : ! 28 N1/10 24N6c/5 . 26NBG5 27 N1/10 T 34 : 25N1 /10 20N10cl7 oo 1TNIGer 29NT /10 | 281 | 133 | 128 | 286 | CA60 5.0 503.4 85.3
LS emne (Teter202c) : )10 : : : : : : 16 N2 ¢/18 " 19N2¢7  * 16N2ci8 16 N2 c/18 : 29
127 379 ;g; 1 N14 28.0 C=398 (2c) : © a9 I : PES%(;?TA'-
: 3N36 210.0 C=389 (1c) : W 5N 1540 cet07 54 N1 5.0 C=107 36 44 14
: 394 Fo 1 N4'26.3 C=88 5.0 C= : C 37 N10 28.0 C=108 JE— 67 N2 85.0 C=97 CA50 666.2
jjﬁ TNT5 060 =402 (19) : : : : 50 N6 26.3 C=108 14,38 1N64 9125 =230 (20) 39 4 1N7 6.3 G=82 CABo 555
: 151 828 15 — j 114 — : :
! 4 NGO 012,56 C=852 (10) ) 4N506.3 C=86 : 1N4 6.3 G=88 : 403 Ji2 Volume de concreto (C-25) = 4.87 md
’ ’ : 830 i j,ZL5 3 N42 210.0 C=413 (1c) : Area de forma = 63.14 m?
125l 3N40 210.0 C=839 (20) J; 425 3 N21 8.0 c/25 C=257 (1@1c+202c) t
12 827 12 o 3N22 ;Og C=a12 (1
: 4 N41 210.0 C=846 (1c) : 08.0 C=412 (1c)
ESC 1:50 ESC 1:50 E\S/(Jg E\!Clg
(1c) 2 N22 912.5 C=651 : : 2N14 210.0 C=1177 (1c) . : . 2 N67 212.5 C=953 (1c) SECAO A-A : : (1c)y2 N70 g12.5 C=713
: 607 :47 12 1158 - : 112 12 : 371 : ESC 1:25 : . . 681 ]:
. — K : — : . . N . N . . . .35
1N21 ¢12.5 C=270 (1c) : : 1N13210.0 C=997 (20) _ : : : _ 47 1 N66 012.5 C=624 (2c) 41 : : " (1c) 1 N69 912.5 C=603 :
140 124 987 : : : SECAC A-A 1 580 : 571 ]:
: - : : : ESC 1:25 ! : 35
: 1 N12 10.0 C=544 (2c) : : : 4. 340 rA 1 N62 g12.5 C=275 (1c) :
2 N20 312.5 ©/20 C=250 (11c+102¢) i 110 : : _ 0 : : :
: RELAGAO DO AGO @ : : 140
140 : : :
: V31 V32 V33 : : 100 O
: 1 : i 8 v P65 P65 LA P67 15 : : 2 N61 212.5 /20 C=255 (2¢)
2 N7 8.0 C=320 (1c) : : SECAO A-A : ' : LAl : : - ™
: : ESC 1:25 - ACO N DIAM QUANT C.UNIT C.TOTAL 15 12“;; 15 1214;‘5 17 : :
L f ™ : " i : : ‘
1 N6 280 62215 o) : ; A . . : oy casol (mr;)o 0 (Cm9)7 (Cm4)850 D 4155 H 4315 | : 2 N30 98.0 C=509 (1c) :
3 135 246 |30] 289 L 40| 225 130 234 135 2 50 | 137 87 11919 ’ 24 N3 /18 Y 24 N3 /18 : 29 303[ 481 : : SECAO A-A
' 15x 35 : 15x 35 : 15x 35 : 15x 35 ' CA50 3 6.3 1 117 117 : 2 N29 8.0 ¢/20 C=235 (1c) : : “Esci125
| 129 | 117 | 1] 104 | 185 | : 225 |0 234 | » 451 g.g ; 35192 65292 6,36 5 : : : :
A A T T A X . : _ : 120
8 N2 c/18 9N2c/13 8N2c/13 11 N2 c/18 : 13 N2 c/18 : 13 N2 c/18 : o 80 AT b NG o63 CaTr 48 N3 05.0 C=87 :
P30 LA : : 7 8.0 2 320 640 :
: . ; : 9., 5 9 8| 80 1] 194 194 10°1 434 :
{40 | 93 |30 90 |30 353 174 . 62 N2 5.0 C=87 9 8.0 2 1166 2332 : 1 N23 8.0 C=442 (2c) . S
L L T 1 N3 26.3 C=117 10 8.0 3 629 1887 : : 2 N25 28.0 ¢/30 C=241 (1g1c+102c)
20 x 35 20 x 35 20 x 35 : 438 95
: 148 : 120 : 196 250 : 11 8.0 3| 642 1926 101 s |
L L | | | 2 : : : : : 12| 100 1| 544 544 : 1N24 8.0 C=446 (1c) : : P69 LA P71 20
- 10N1c¢16 - 7N1ci18 - 18N1c/7 15N1c/18 : : | 60 1'N8 8.0 C=194 (1c) : : : 13 | 10,0 1 997 997 01 871 10 : ' 4 :
: : . 10:1 1 1158 - . . 14 10.0 2 1177 2354 ‘ — - E5L 221 L 35 L 125.5 L 35 L 381.5 ﬂs{
: : : : 14 : - - : 15 | 10.0 1 418 418 2 N26 28.0 C=887 (1c) 4 Fd +—— +
—_— : : : 2 N9 28.0 C=1166 (1c) : : e | 100 b 636 636 : 20 x 35 : 20 x 35 : 20 x 35 :
1 N4 28.0 C=90 (1c) : | 8 1 N18 12.5 C=227 (1c) : 50 N1 85.0 C=97 18] 100 1 g |53 I 2535 I 160.5 1 130 L 269 E
: : : 18 | 125 1 227 227 : 15 N2 c/18 : 9N2c/18 T 26N2c5 15 N2 ¢/18 T 29
2 N5 28.0 C=312 (1c) : 19 | 125 2 441 882 : : :
: 429 - 20 12,5 2 250 500 52 14
J15 V34 21| 125 1 270 270 — " s5N2050C=97
2N19 12,5 C=441 (1c) , : 25
ESC 1:50 22| 125 2 651 1302 3N9 06,3 C<114
23| 125 1 230 230 : : : =
V33 . 2 N24 312.5 C=689 (1c) . . 24| 125 2| 68 1378 101 281 : : 458 J15
ESC 1:50 ; - SECAO A-A : - . ; - :
14 642 - G : RESUMO DO ACO : 1N27 08.0 C=289 (1c) - ; 3 N68 812.5 C=470 (1c)
: 1 N23 213.5 C=230 (2c) : ESC 1:25 101 458
: 2 N17 219.0 C=639 (1c) i : L | PESO +10% : 2 N28 8.0 C=466 (1
! 629 : s : A0 e | (kg) PocmiRe e
: 1 N16 #10.0 C=636 (2c) : SECAO A-A ] : CA50 63 12 03
122[ 626 ESC 1:25 8.0 79.1 34.3
: 1 N15 810.0 C=418 (2 : 10.0 62.3 42.2
° (20) 125 47.9 507
CAB0 5.0 167.7 28.4
rA -A
340 ! : PESO TOTAL
© i35 276 130 | 277 130 (kg
H 15x 35 T 15x 35 T CA50 127.6
. La | P34 15 | 166 | 110 L:] 110 | 167 | - CAB0 28.4
: L : ! 10 N2 c/18 TTHoN2e1 T 10N20i11 10 N2 c/18 o 29
] 35 | 269 |30 | 266 |35 ] : : Volume de concreto (C-25) = 1.74 m?
T 15x 35 T 15x 35 ol : : 9 Area de forma = 26.68 m?
| 161 | 108 L 1] 112 | 154 | 3 N11 28.0 C=642 (1c) : 40 N2 95.0 C=87
9N2c/18 T UoN2eM2 i 8N2eM4 | 9N2c18 2
. . 9
3 N10 28:0 C=629 (1c) : 35N2 25.0 C=87
RELAGAO DO AGO
V17 V18 V19
V20 V21 V22
V23 V24 V25
V26 V27 V28
V29 V30
AGON DIAM QUANT C.UNIT C.TOTAL
(mm) (cm) (cm)
V1 7 CAB0 1 5.0 441 87 38367
2 50 | 253 o7 24541
ESC 1:50 CAS50 3 6.3 2| 17 234
4 63 | 143 98 14014
- I ) ) - 5 6.3 1 122 122
2:N10 28.0 C=1200 (1c) : 2N10g:8_0 C=1200 (1c) : : 2 N13 28.0 C=256 (1c) 6 80 2 1189 2378
61 : 61 7 8.0 2| 1112 2224
: : 8 8.0 2| 298 596
1:N10 8.0 C=1200 (1c) : 1N12 08.0 C=946 (1c) ol & ol 20 20
: ‘61 11 8.0 1 254 254
: : : V1 9 V20 12 8.0 1 946 946
=1200 ¢ ‘ 1 N11 28.0 C=254 (2c) 137 80 2| 2% 512
1 N10 28.0 C=1200 (2c) o8, V1 8 14 8.0 51 %07 614
: 7 ESC 1:50 '
: 61 oW | X ESC 1:50 15 8.0 1 185 185
: e T SEGAOA-A Lot 150 16 8.0 2| 321 642
1 N9 28.0 C=230 (2c) : ESC 1:25 : 2 N63 812.5 C=602 (1c) : . 2 N67 012.5 C=1182 (1c) 17 8.0 1 156 156
i 125 (1c) 2 N16 #8.0 G=321 : ) 17 576 15 147 71 ol o8 51 e e
299 lo4a SECACA-A : 1 N62 912.5 C=275 (2¢) : 1 N6§ 212.5 C=818 (2c) 20| 80 1] 162 162
1 N15 8.0 C=185 (1¢) : ESC 1:25 Lo | . 130 21 8.0 1] 160 160
© - N 22 8.0 2| 194 388
® {95 L : SECAQ A-A 23| 80 2| 845 1690
' 2 N61 512.5 /20 C=255 (182c+103c) : ESC 1:25 1 N65 212.5 C=534 (2c) 24| 80 1] 161 161
LA 5 340 rA : : o° 25 8.0 1 159 159
! | 135 . 26 8.0 2| 530 1060
: : : : : : : : ; : ! . SECAC A-A 27| 80 2| 305 610
130 | 2345 135 | 2295 |35 ] 276 |30] 277 |30] 253 |30] 254 |30] 229 |30] 231 15| 261 |30} 340 FA 1 N64 62,5 C=240 (3c) : ESC 1:25 28 8.0 2| 32 654
T 15x 35 T 15x 35 : 15x 35 : 15x 35 : 15x 35 : 15x 35 : 15x 35 : 15x 35 : 15x 35 : P LA b3 9 - 20 : 29 8.0 2 127 254
L 2345 N 2295 N 157 I R L 158 5] 253 5] 254 5] 229 0] 231 Hi 261 | : ; PR L %) 80 5| 12 1360
’ 14 N1 ¢/18 T 13N1c/18 7 9 N1 c/18 TNt i TNAen7 9 N1 c/18 ’ 15 N1 ¢/18 T 15 N1 ¢/18 T 13 N1 ¢/18 T 13 N1¢c/18 : 15N1¢/18 29 30| 946 30| 135.4 15] 2 340 rA 32 8.0 3| 138 414
: : : : : : : ! : i P42 P36 LA S v4 15 33 8.0 4 231 924
15x 35 15x 35 : : 9
: 9 : 946 || 135.4 K : : : 34 8.0 3 346 1038
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